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2. BREHEEASHEK:
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1 2 I X 8%
2 N AR H, 7]
3 HERER FEF O | kg 3000
4 | BEHT TR mm 500
5 EHE = kg = 4160
6 2 /B, B ke =6477/1785
7 Hr 2 FE/ B, F ke =1758/2375
8 B AR
9 R leth g YIRS 2/2
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10 i B mm 1760

11 B R Gl 28 X 9-15-14PR
12 B e R Ja i 6. 5-10-10PR
13 L7ogicc) B/ E®R | mm =1005/980
14 | mARAEE | ZFAmEITE | m 3000

15| BEmRASHE | ZFZAFETTE | mo =145

16 H%Zréﬁﬁé ZRAREITAE | mm =2120

17 |MERANEE | ZFmEITE | m = 4146

18 | [TEWA, 7/ 5 | ZFAREITE | deg 6/12

19 X AR E mm 1100

20 | WX ETHEE =/N/®mA | mm 272/1072
21 X R~ EXFEXK | mm | 45X122X1070
22 ENKE “RAREITE | m =2720

23 ENEE mm =1225

24 | HEEE mm =2150

25 | mANBBHEE mm = 2450

26 TR HEE HE/EH |km/h =12/13

27 RIAEE FE/ZEEH |mm/s =290/410
28 TrEEE FE/ZEEH |mm/s =500,/480
29 RAEG| T 5 -4F TIEH| | kg =13180

30 | BANEHE M\gfgﬁ A =17/20

31 HL 15 T/ T/E#R B 7= 4L R o
32 e ITREIHZER | kW =12

33 TEZR AL E| kW =15

34 T KA 2/ E 4%
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35 Bk v =80

36 = (5) Ah =205

37 7t B AL A =100
3. ERER%
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